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Very Short Answer Type Question
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1.IfA = l ] and A~ 1 = l 2],ﬁnd the value of x.

° Watch Video Solution

-5
2. Find the value of sin l2 cot 1 <f)] .

° Watch Video Solution
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3.Let f: R — R be the function defined by f(z) = ——— Vz € R.

Then, find the range of f.

o Watch Video Solution

4.let f(z) = z|z|, Vo € R.Discuss the derivability of f(z) atz = 0.

° Watch Video Solution

5. Find the order and degree of the differential equation

o Watch Video Solution
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6.If @ =21 —j+hk b =i+ d ¢ =i+3j—Fk find A

3’ — 2k an
%
such that a is perpendicularto A b + r

[ ° Wiak~h \NAdAA CAliikian
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7. The x-coordinate of a point on the line joining the points P(2,2,1) and

Q(5,1,-2) is 4. Find its z-coordinate.

° Watch Video Solution

dx
8. Evaluate 5
sin“x - cos? x

° Watch Video Solution

9. If the area of circle increasing at a uniform rate, then prove that

perimetre varies inversely as the radius.

° Watch Video Solution

10. The probability that atleast one of the two events A and B occurs is

0.6. If A and B occur simultaneously with probability 0.3, then evaluate
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P(A) + P(B).

° Watch Video Solution

Short Answer Type Question

1. Directions (Q. Nos. 16-25) Prove the following

1 1
Cos <2ta,n_17> = sin<4ta,n_1§).

o Watch Video Solution

2.Show that the relation R on the set A ={1,2,3,4,5) given by R = {(a,b): la -
bl is even)} is an equivalence relation. Also, show that all elements of (1, 3,
5) are related to each other and all the elements of (2, 4) are related to

each other, but no element of (1, 3, 5) is related to any element of (2, 4).

o Watch Video Solution
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3. Evaluate /(:t:2 + 2:c)d:t:.

o Watch Video Solution

4. Show that the function f: R — R defined by f(z) =
T

neither one-one nor onto.

0 Watch Video Solution

5.Solve the equation sin ™! 62 + 2sin "' 6,/3z = _Tﬂ

0 Watch Video Solution

6. Find the inverse of the following matrix

=
(NS
—= NN

0 Watch Video Solution
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7. A bag contains 5 red marbles and 3 black marbles. Three , marbles are
drawn one-by one without replacement. What is the probability that at

least one of the three marbles drawn be black if the first marble is red ?

° Watch Video Solution

8. Using properties of determinants prove that
a? +2a 2a+1 1
2a+1 a+2 1|=(a—-1)°
3 3 1

o Watch Video Solution

9. A and B throw a pair of dice alternately. A wins the game, if he gets a
total of 6 and B wins, if she gets a total of 7. If A starts the game, then
find the probability of winning the game by A in third throw of the pair of

dice.

o Watch Video Solution
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10. If A= and B = , find a matrix C such that
7 12 7 8

3A + 5B 4+ 2C'is a null matrix.

o Watch Video Solution

sinz + cosx -
11. Find the derivative of cos ~! ( > , il

V2

o Watch Video Solution

d x —
12.1f z = €®/¥, prove that % = log?:: .

° Watch Video Solution

13. Find the condition that curves 2z = y? and 2zy = k intersect

orthogonally.

o Watch Video Solution
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3
14. Evaluate/ (3x2 + 2z + 1) dx .
1

0 Watch Video Solution

15. Examine the differentiability of the function f defined by
2z + 3,if -3 <z < —2

flz)=<¢z+1if —2<2<0
x+2if 0<z<1

° Watch Video Solution

1
16. Evaluate ‘/ 7 t z dr,r # 1

° Watch Video Solution

17. Solve the following differential equation

dy Y
2
2 _xy=1 (_>, 0.
z Ty + cos x #

o Watch Video Solution
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18. Find the area of region enclosed by the curve x = 3cost,y = 2sint.

° Watch Video Solution

s .2
2 sin“ xdx
19. _
o Slnz + cosx

° Watch Video Solution

20. Form the differential equation having
Yy = (sinfl:z:)2 + Acos 'z 4+ B, where A and B are arbitrary

constants, as its general solution.

° Watch Video Solution

21. The two vectors 3 + k and 37 + 3 + 4k represents the two sides AB

and AC respectively of a AABC , find the length of median through A.
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l ° Watch Video Solution
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22.If a =1+45+2k, b =31 —2j+ Tkand ¢ = 27 — j + 4k. Find
%
bandp.c =18

a vector ? which is perpendicular to both @ and b and

° Watch Video Solution

23. Find the co-ordinates of the point where the line joining (3,4, — 5)

and (2, — 3,1) meets the plane2z +y+ 2z — 7 = 0.

° Watch Video Solution

24.The vectors from origin to the points Aand B are A = 2; — 3 + 2k

and B = 2i + 35 + k, respectively. Find the area of AOAB.

° Watch Video Solution
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25. For any vector a, show that
a= (a-%)’z—l— (a-3)3+ (aI::)IAc

° Watch Video Solution

Long Answer Type Question

o ~ o — R "
1. If? , + 7+ k and b:i—k.Findavector?such that
_>
Z>><E> band?-?:&
o Watch Video Solution

2. Find the foot of perpendicular from the point (2,3, — 8) to the line
4—z y 1-=z
2 6 3

° Watch Video Solution
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3. If

cos 1 (%) +cos ! (%) = 0, prove that9z? — 12zycosd + 4y*> = 36sin’6

o Watch Video Solution

4. Find graphically the maximum value of Z = 2z 4 by, subject to

constraints given below 2z + 4y < 8,3x +y < 6,y < 4,2 > 0,y > 0

° Watch Video Solution

5.If the function'f: R — R is given by f(x) = z? +2and g:R — Ris given

x # 1 then find fog and gof and hence find fog (2) and

x
by g(x) =——,

gof (-3).

o Watch Video Solution
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2 -3 5
6. Evaluate the following determinant|3 2 —4|.
11 -2

o Watch Video Solution

7. Three cards are drawn successively with replacement from a well-
shuffled pack of 52 cards. Find the probability distribution of the number

of spades. Also, find the mean of the distribution.

° Watch Video Solution

20 1
81fA=121 3| ,thenfind A2 —54 + 6L
1 -1 0

° Watch Video Solution

9. If the straight line xcosa + ysina = p touches the curve

2 2
x .

— + Z—z = 1, then prove that a’cos’a + b2 sina = pz.
a
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° Watch Video Solution

x d*y 1 a 2
10.If y = = log ,prove that — = — .
a + bz dx? z \a+bx

° Watch Video Solution

1. Find the area of region above the X-axis, included between the

parabola y? = az and the circle 2% + y? = 2az.

° Watch Video Solution

12. Evaluate the following integrals :

sin® 2 + cos® z
dzx.

2

sin“x - cos? x

° Watch Video Solution
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13. Find the particular solution of the differential equation

(ta,n*1 Yy — x)dy = (1 + yz)da:, given that x= 1, when y=0.

o Watch Video Solution
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